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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 758 96.96 | Th s | 000 ~ 758 | 248 13.30 Thns 1.00] 5.00 ~ 11.50 96.96 | h st | 500 ~ 1150 | 2.48 13.30
’ 100kN/m#%#E%%| 1.00| 000 ~ 1.11 116.68 [3mZ#BZ % -~ - — —| 100kN/m#%#E%%| 1.00 [10.81 ~ 14.18 116.68 |3mZ#BZ % -~ — — —
Zzh st 100 111 ~ 889 100.00 | Zh kst | 000 ~ 889 | 2.31 12.36 Fhst 1.00 | 500 ~ 1081 100.00 | #h kst | 500 ~ 1418 | 2.31 12.36
3 100kN/m##8%25| 1.00| 000 ~ 1.41 12145 |3m%#Ai3 - ~ — - —|[ 100kN/m%#%%| 1.00|11.82 ~ 19.15 12145 |3m%#BAi5 — ~ — — —
ZhLst 100 141 ~ 920 100.00 | #hkist | 000 ~ 920| 215 11.49 Fhst 1.00| 500 ~ 11.82 100.00 | #h kst | 500 ~ 1915 2.15 11.49
4 100kN/mi%#8%2%| 100| 000 ~ 082 11221 |3m%#BAi3 -~ — - —|[ 100kN/mM%#%%| 1.00|10.63 ~ 13.15 11221 |3m%#BA5 -~ — — -
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